Work-KE Relation Involving Friction
Consider a block that that is given an initial velocity V, on a surface where p = .
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Note that —fis is not the work done by f« on the block because s represents the displacement of
the block and NOT the displacement of fy.

1. f«is not localized on a single point but distributed over the entire contact surface of block.
2. since fy is not localized on a single point, then the block cannot be treated as a particle-
like object and thus the Work-KE Theorem does not apply in this case.

However, the equation — fks = AK still describes the decrease in KE due to the friction force. If

there are other forces besides friction acting on the object, the change in KE is the sum of that
due to friction plus the other forces acting on the object (from the Work-Energy Theorem).

AK =- ka +Wother forces| Work-KE relation involving friction




